
 

 

 

    

 

 

 

Webinar December 13, 2016 

 Archaeological Assessment HKZ 
 

 

Questions: from the audience 

Answers given by: Andrea Klomp (RCE), Johan op de Beeck (RCE), Seger van den Brenk 

(Periplus), Bart van Mierlo (Periplus), Frank van Erp (Netherlands Enterprise Agency), Ben de 

Sonneville (BLIX)  

 

 

 

Question: Which objects could cause a 500nT reading? 

Answer: The 500nT reading is depending on the size of the ferrous object, whether the object is buried 

and the lateral distance from the magnetometer. Depending on the shape of the measured anomaly we 

could investigate the more details of the object. Generally speaking these are considered large ferrous 

objects. 

 

Question: Who will cover the cost of excavation of an archaeological object, say a WWII military airplane 

or shipwreck? 

Answer: The one who disturbs has to pay (De verstoorder betaalt). The permit holder of the wind farm is 

liable for all the costs involved with an archaeological object. To avoid the costs of excavation the permit 

holder can choose to mitigate the adverse impacts on archaeology, taking into account the guidelines 

issued by the authorities. 

 

 


